
Certain tables are on an additional sheet

Q1
Complete the table by filling in the cumulative frequency.

	Donations
	1p – 10p
	11p – 20p
	21p – 30p
	31p – 40p 
	41p – 50p

	Frequency
	10
	13
	16
	15
	12

	Cumulative Frequency
	10
	23
	
	
	


Q2
This table shows the number of bowlers, out of a total of 80, who took wickets in cricket matches over the course of a season.

a) Draw a cumulative frequency diagram for the data.

b) Use it to estimate the median

c) What is the inter-quartile range of the data?

Exam style questions

Q3
The table shows the results for 160 pupils in a test

a) Draw a cumulative frequency diagram




(3 marks)

b) Copy and complete this table to show the median and inter-quartile distribution.








(3 marks)

	Median
	Lower quartile
	Upper Quartile
	Inter-quartile

	
	
	
	


c) The top 60% of pupils passed the test.  What was the pass mark?

(3 marks)

Q4
The grouped frequency table shows the distribution of the amounts of daily sunshine, in hours, in Mathstown in July 1994.


a)
Construct the cumulative frequency graph for the data.

(3 marks)

b) Use your cumulative frequency graph to find an estimate for the median   

         amount of daily sunshine, in hours, in July 1994.



Make your method clear.






(2 marks)


Q2

	No. of wickets
	1 - 10
	11 - 20
	21 - 30
	31 - 40
	41 - 50
	51 - 60
	61 - 70
	71 – 80 
	81 - 90
	91 - 100

	No. of bowlers
	2
	3
	5
	7
	19
	16
	14
	10
	3
	1


Q3.

	Mark
	0 - 19
	20 - 39
	40 - 49
	50 - 59
	60 - 79
	80 – 99

	Freq.
	5
	18
	29
	65
	32
	11


Q4

	Amounts (s) of daily sunshine in hours
	Number of days in this class interval

	0 ( s ( 2
	1

	2 ( s ( 4
	2

	4 ( s ( 6
	3

	6 ( s ( 8
	7

	8 ( s ( 10
	10

	10 ( s ( 12
	6

	12 ( s ( 14
	2



Q1

	Donations
	1p – 10p
	11p – 20p
	21p – 30p
	31p – 40p 
	41p – 50p

	Frequency
	10
	13
	16
	15
	12

	Cumulative Frequency
	10
	23
	39
	54
	66















(3 marks)

Q2
a)
see graph









(3 marks)

b) Median = approx 53 wickets





(2 marks)

c) IQR 
= UQ – LQ







(2 marks)

= 66 – 42

= 24 wickets

Exam style questions

Q3
a)
see graph









(3 marks)


b)

	Median
	Lower quartile
	Upper Quartile
	Inter-quartile

	Approx 53
	Approx 46
	Approx 60
	14















(3 marks)


c)
60 % = 96 pupils







(3 marks)



leaving 64 not passed



pass mark = approx 53 

Q4
a)
see graph









(3 marks)


b)
Median = approx 8.5 hrs of sunshine




(2 marks)

Total / 24

